107!

1072

107

10

4

Ratio

0.95

0.9,

-10-8 6 -4 -2 0 2 4 6 8 10

[ pull of goverp parameter |

107!

1072

107

10

TIeS o
: snst%\lln . 1
- ean )
. el

=

Ratio

0.95

0.9,

-10-8 6 -4 -2 0 2 4 6 8 10

[ === Dowmstepa_qco_defaultcHeck

[pull of

@ parameter |

res

107 =

1072

1073

10

te oy —0.0006:
onstant _8.

Ratio

0.95

o
©

10-8 -6 4-20 2 4 6 8 10

[ pull of dxy parameter

107}

1072

res

1%36ev

onstant

i

-0.008

%‘55 i

Ratio

o
©

0-8 6 -4 2 0 2 4 6 8 10

[ pull of 6 parameter |

107}

1072

1073

10

=

Ratio

0.95

o
©

10-8 -6 4-20 2 4 6 8 10

[ pull of dz parameter |

107}

1072

L

Ratio

0-8 6 -4 2 0 2 4 6 8 10




	Contents
	Page 1


